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1. {14pts) Use the graph of the function f r
at right to answer the following questions. - - S
a) What is the domain of f7 [-6-2 V(5] f
b) What is the range of f? (—=,61 j '
¢) Find f(3) and f(=1). £()=0 L0 t1nd
d) What are the solutions afi+

of the equation f(z) =47 x=6 oA %= F
e) Find intervals where f(x) < 0.
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2. (1lpts) Suppose (—1,2) and (5, —4) are endpoints of a diameter of a circle. Find the
equation of the circle and draw the circle.
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3. (10pts) Find the domain of f(z) = m Write your answer in interval notation.
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4. (9pts) Sketch the graph of the
piecewise-defined function:
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5. (16pts) Let f(x) = —x* + 13z (auswer with 4 decimal points accuracy).

a) Use your graphing calculator to accurately draw the graph of f (on paper!). Indicate
scale on the graph.

b} Determine algebraically whether f is even, odd, or neither. Justify your answer further
by examining the graph.

¢) Find where f has a local minimum and maximumn.

d) Find the intervals of increase and decrease.
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